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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
JEK R
= 1 111, 968, 278
ER LT
= 1 95, 343, 804
A+ T (ICT)
= 1 93, 822, 660
FEAA (ZE88) B 1 (ICT)
(1)
m3 16, 600 228.8 3, 798, 080
FEAA (ZE88) B 1 (ICT)
(2)
m3 5, 400 416.3 2, 248, 020
i S T Cadl- ERiRY L&)

JEiAby = b ~ Bl

m3 24, 400 3, 376 82, 374, 400
A (-27) w1850, 000m3 AT
m3 24, 400 221.4 5, 402, 160
R FEIE T (CT)
= 1 1,521, 144
LT (& 1358) (ICT) A [ D M6 L
m2 2,960 513.9 1,521, 144
Em T
= 1 8, 238, 870
AT
= 1 8, 238, 870
BRI A Ay b A b
m2 2, 790 2,953 8, 238, 870
BEBE T
= 1 2, 458, 948
E¥LT
= 1 201, 388
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HoOflf =%

THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
RIE +Hp
= 1 102, 500
MR L +wh
= 1 72, 560
b S T Cadl- ERiRY L&)
S NIEH
= 1 26, 328
LT FT HERE T (F &4 HAT)
= 1 2, 257, 560
i ek Im% 8 % 2moA 18-8-25 (%)
m3 35 64, 065 2,242,275
B st A B (Uls) ¢ 180 L=400mm
T 8 997 7,976
B A i (R FES) ¢ 180 L=400mm
T 9 812.2 7,309
-7y FE (BR) 1
= 1 342, 594
E¥LT
= 1 34, 245
RIE Y +H
= 1 14, 350
MR L +wh
= 1 18, 140
R (SR T Cadl- ERiRY L&)
%W% fn
= 1 1,755
VR VARSY RN EVZA R VAR DY Z 5=
= 1 308, 349
BUGFT FetfE 2 ) ) -} 18-8-25 (F4F) JEHE 52cm &S
30cm
m 6 8, 288 49, 728
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
BUEFT/ND 1kavg) -} 18-8-25 (FF)
m3 0.7 64, 739 45, 317
avy)=b (R 77wy ) 5% $E35cm 1:0. 4
(1)
m2 5 25, 247 126, 235
avy)=b (R%R) 77wy ) 5% $E35cm 1:0. 3
(2)
m2 2 24, 463 48,926
RSA - AR (ef) FEf RC-40
m3 2 7,153 14, 306
H HiAR KIS S VAR (301536 1a) t=20
m2 0.1 4, 281 428
BUGHT Kb )y -} 18-8-25 (&= %)
m3 0.4 58, 523 23, 409
Bkt 1
= 1 2, 760, 684
E¥LT
= 1 192, 612
RIE Y +H
= 1 102, 500
MR L +wh
= 1 72, 560
i S T Cadl- ERiRY L&)
%W% fn
= 1 17, 552
LHTHIKEE T
= 1 2,568, 072
BT K 2600 X 1200
m 24 107, 003 2,568, 072
B 1
= 1 1, 839, 060
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
FEARIBA AT L
= 1 1, 839, 060
B =1 v Gr-C-4E Hxy& RS (e T
(1)
m 21 20, 179 423, 759
B =1 v Gr-C-2B Hxy& R e T
(2)
m 57 22,175 1, 263, 975
FR& X FHoqfEay))-b 18-8-25 (&%)
m 21 7,206 151, 326
Gan
= 1 984, 318
ARME T
= 1 984, 318
AW B
= 1 984, 318
B TR
= 1 111, 968, 278
I
= 1 13, 441, 111
B3 TS
= 1 2, 398, 945
et By
= 1 1, 346, 226
PR5FE B (ICT)
= 1 87, 276
VAT (ICT)
= 1 1,044, 516
EhREELA
= 1 214, 434
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
BGmEsET (K30
= 1 1,052,719
HIMGERE (FE L)
= 1 11, 042, 166
Wi
= 1 125, 409, 389
B
= 1 38, 545, 956
T AT
= 1 163, 955, 345
— R
= 1 26, 044, 655
TS
= 1 190, 000, 000
THEBLFH Y %H
= 1 19, 000, 000
TH#&G
= 1 209, 000, 000
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